flux

Ax? / 0.3909

A? / 0.3912

Fe2 + Continuum Fit

Iy 3
v

82 km/s

Opep 163 +/— 219 km/s
T T

2
X2 / 4568 =
—tuin_4 .

0.3909

o
N
N i
Ny )
Mo i
|
|— | 1 1 1 1 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 ]
1500 2000 2500 3000 3500 4000
Rest A (&)
Fe2 Scale Factor X2 Diagnosis
cry 38.2 krrl1/s | . . | . .0'00.178.(46), . . Ixzmiq / Alr568l = (?.39CI)9
- rm793 x /\ RMS 0.772 1
i MAD 0.622 i
L L /7< i
N — —
o
L L L | L L L | L L L L | L L L L | L L L L |
1073 1.5x107° 2x107 2.5x1073 3x107°
Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis
o, 100 1405 prior 225 km/s —840(220) X2min / 4568 = 0.3909
T I T I T I T I T I T I T I T I T
B r RMS 6.80
MAD 3.24
L ]
P i
o [ Ll‘!v”mu“n'l" ””WT'I'T P '“"T"h
&b i
o i
o0 |- _
|
r o O &) T
L | L | L | L | L | L | L | | L
0 200 400 600 800 1000 1200 1400 1600

Fe2 Dispersion (km/s)



